C:# Division With Tape Diagram Name:

Solve each problem. Answers

1) Isabel wanted to drink exactly {two} bottles of water each day, so she bought { twenty-
five} bottles when they were on sale. How many more bottles will she need to buy on the 1
last day?
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2) A recycling company had {twenty-three} pounds of material to sort. To makeit easier they || 4
split them into boxes with each full box having { nine} pounds, how many full boxes did
they have?
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3) A grocery store needed { forty-five} cans of peas. If the peas come in boxes with { eight}
cans in each box, how many boxes would they need to order?
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4) A flash drive could hold {five} gigs of data. If you needed to store {forty-seven} gigs, how
many flash drive would you need?

5) Rachel received {thirty-four} dollarsfor her birthday. Later she found some toys that cost
{eight} dollars each. How much money would she have left if she bought as many as she
could?
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6) A movietheater needed { forty-four} popcorn buckets. If each package has { five} buckets
init, how many packages will they need to buy?
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C:# Division With Tape Diagram Name: Answer Key

Solve each problem. Answers
1) Isabel wanted to drink exactly {two} bottles of water each day, so she bought { twenty-
five} bottles when they were on sale. How many more bottles will she need to buy on the 1 1
last day?
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2) A recycling company had {twenty-three} pounds of material to sort. To makeit easier they || 4 10
split them into boxes with each full box having { nine} pounds, how many full boxes did
they have? 2
5.
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3) A grocery store needed { forty-five} cans of peas. If the peas come in boxes with { eight}
cans in each box, how many boxes would they need to order?

45
VAN

4) A flash drive could hold {five} gigs of data. If you needed to store {forty-seven} gigs, how
many flash drive would you need?

5) Rachel received {thirty-four} dollarsfor her birthday. Later she found some toys that cost
{eight} dollars each. How much money would she have left if she bought as many as she
could?

34
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6) A movietheater needed { forty-four} popcorn buckets. If each package has { five} buckets
init, how many packages will they need to buy?

1-6 |83]|67]50[33][17] 0 |

[ M ath ] www.CommonCoreSheets.com




	Worksheet
	Answer Key

